SMSFEE BERT7O0J 53 2T 11 HERRE

FERAREE: 2024 /£ 1 A 24 H (7K)6 kR
HREE: M - R0 - LA - fEE - e

FbiAdh: BRE, BE5E, /-, E&, ETiHE

gﬂﬂ%o #ﬁ%uau%@NiEﬂ o

FHIEERAICES C X, REREICIIHEZESZHEREL THEBEEEZRET L,
TOJSLVRAMRDEICIRSD THZBSITEETHOREDY X MIFEFNAEL,

B HKoBEICOWTERERL, (7) »5 (h) $TRED &,

| 10 | 16 | 23t
2024 7y 4)
) 4000 (&)
Y (H) 1010101010
F2R XoR%E Ruby OEICHE-> TEERZ X, BREILHET
ZDEFEDDHDE Ruby DR TRET S Z &,
(1) y=ax+b
(2) b* — 4ac
(3) (2z + 3)*+?
1
4) ——
b+1 -1

(1) "this is a test".length

(2) "test".size

(3) "grapple"[2..]

(4) "test".upcase

(5) "w" + "east is beast".split("a").join

FAM 2 words KT &5 e AT 3.
words = ["lion", "giraffe",

L&, DINOMERMNCIR 2 0E A Lo

"elephant"]

words [1]

words.sort.reverse

words.sort_by {l|x| x[31}

def count_letter(text, letter)
count = 0
text.each_char do |char]
if char == letter

(1)
(2)
(3) words.sort_by {lx| x.size}
(4)
(5)

count += 1
end
end
return count
end

words.sort_by {|x| count_letter(x, ’e’)}.reverse
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def calculate_word_lengths(text)
words = text.downcase.split # /\XFILL THEES L DEHIICT S

word_lengths = Hash.new

words.each do |word|
word_lengths[ {77) 1 = word.length
end

word_lengths
end

text = "This is a text"

word_lengths_hash = {-)

puts "Word lengths:"

sorted = word_lengths_hash.sort_by {lx| [x[1], x[0]]}

for (7)
printf("Ys:

end

%d\n", key, val)
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(HTML & (0—#F)]
1: <form (<) ="POST" (M) ="message.rb">
2: <p>
3: EEés < {/\) name="person" type="text" maxlength="10"><br>
4: QXY bi<input name="{Z=})" type="text" maxlength="40"><br>
5: <input type="submit" value="OK">
6: <br>
7: </p>
8: </form>
[message.rb(®—k)]
1: require " {KR) "
2: ¢ = CGI.new(:accept_charset => "UTF-8")
3:
4: # THR%:1 OEZERE
5: pname = c[" {A) "]
6: # TOXY b1 OEZEE
7: cmt = c["comment"]
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